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1. Which of the following fraction is the 6. —+—+—+—4+—4+—+—+—isequal
smallest? 20 30 42 56 72 90 110 132
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17 For Video Solution, "% T
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7. A number when divided successively by 4

and 5 leave the remainder 1 and 4

2 14i41p14 1T equal to: respectively. When it is successively divided
7 14 28

; ; - by 5 and 4 the respective remainders will be
' 5 A 41
B. 2.5 Y ¥ [=]? .,.‘E|
¢. 3 & 2
o
D. 35 W o

Click Here

For Video Solution, Click Here
For Video Solution,

3. Unitdigitin (264)°% + (264)1%3 is :

8. Anumber consists of two digits such that the

g' 2 [=]: ---,IEI digit in the ten’s place is less by 2 than the
C. 6 o digit in the unit’s place. Three times the
D. 8 number added to g times the number
obtained by reversing the digits equals 108.
The sum of digits in the number is :
4, When simplified the product A. 8 Ok A0
ENENCR: A B. 9 i
(1 3) (1 4) (1 5) ................. (1 n) ? c o6
A L ' =l
- [w] 3 [w] D. 7
2 = Click Here
5. :
C 2(n—-1) E g
' n 9. The digit in unit's place of the product
D. — For Video Solution, (2153) 1S : E E
A1 S
3 :
5. A student was asked to multiply a number D. 9

by 3/2 but he divided that number by 3/2. For Video Solution
His result was 10 less than the correct

answer. The number was:
A. 10 I'EI [=]
B. 12 O

C. 15

b. 20
For Video Solution,
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10. How many 3-digits numbers, in all, are
divisible by 67

A. 140
B. 150
C. 160
D. 170

ClI
For Video Solution,

11. It is given that (232 + 1) is exactly divisible
by a certain number, which one of the
following is also definitely divisible by the
same number?

A 2% 41

B. 7x233

C. 216—-1

D. 216 + 1 Fo;ni;i':izo Solution|
12.1f 13 + 23 + ....... + 103 = 3025, then the

value of (23 + 43+ 63+ 83 +........ +20%)

A. 7590 O30

B. 5060

C. 24200 El'

D. 12100

Click Here
For Video Solution,

13. Find the unit digit of the expression
8889235! + 2229235! + 6662359! + 9999999!

A5 D0
B. 9 y
C. 3 ot

D. None of these

Click Here
For Video Solution,

14. The last digit of the expression

4492 +4°+9* +4°+ 9%+ ... +4%
+ 9100 s ; E &
A0 g
B. 3 =]
C. 5

D. None of these

Click Here
For Video Solution,
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15. The unit digit of 23" x 3*° x 4%° x 56" x 67" x

7%is : Ok30,
A 0 et
B. 5 =]
C. Can’tbe determined
D. None of these

16. Find the number of zeroes at the end of the

product
123 _ 9122 _ 9121y (9121 _ 9120 _ 9119
3 3 3*Y (2 2 217
A1 [mirs[E]
B. 0 Rl
C. 119
D. 120

Click Here
For Video Solution,

17. A number x when divided by 289 leaves 18
as the remainder. The same number when
divided by 17 leaves y as a remainder. The

value of y is [®] 3=
A 5
B. 2 =]
C. 3
b. 1

18. Find the remainder when 999999999 is

divided by 13 40|
A 8
B. 11 af
C. 5
D. 12 Ciik Hero .

For Video Solution,

19. Find the remainder when 54124 is divided by
17

oo W
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ClIi ere
For Video Solution,
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20. Which of the following statement(s) is/are
TRUE?
. Highest common factor of (32902 - 1)
and (32992 + 1) is 4.

II. (4% -1)is exactly divisible by 5.

Options: [=] ; [=]
A. Onlyl [=]:

B. Only Il

C. Neither InorlIl
D. BothIandII

21. How many perfect cubes are there 1 and
100000 which are divisible by 7 ?

A 5

B. 6

C. 7

D. 15

22.1f A = 0.142857142857...... and B =

0.16666..., then what is the wvalue of
(A+B)/AB? Ofwi0

A. 10 -

B. 11 ok

C. 12

D. 13

23.If A = 0O.abcabc...., then by what number A
should be multiplied so as to get an integral

value? OF.40,
A. 2997
B. 1000 =]
C. 1998
D. Both 2997 and 1998

24.1f N = 411 + 412 4+ 413 4 41 then how many
positive factors of N are there?

A. 92 E E
B. 48 i
C. 50 &
D. 51
ulApttrix u /Qmaths ideo Solution,

ﬁ/Apttrix

25.1fN = 3% + 313 - 12, then what is the largest
prime factor of N?

A 11
B. 79
C. 13
D. 7 3 Fo;"%i'ﬁzo Solution|

26. If the unit digit of 433 x 456 x 43N is (N+2),
then what is the value of N ? OFsi0]
A 1 o

B.

Click Here
For Video Solution,

I -

8
C. 3
D. 6

27.1f N = (12345)% + 12345 + 12346, then
what is the value of VN ? Ofsi0]
A. 12346 »
B. 12345 o
C. 12344
D. 12347

IfP=22+6%+10%+ 14% + ....94% and Q=
12 + 5% + 92 + 812, then what is the

28.

value of P-Q? ap ..-E
A. 24645 ¥
B. 26075 %
C. 29317
D. 31515

29 fA=—+—— +—~ 4 ... upto 8 terms, then
0.4 0.04 0.004

what is the value of A ? [w] 3]
A. 272727275 _
B. 25252525.5 [=]
C. 27777777.5
D. 25555555.5
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30. How many natural numbers are there between V261 and v45109 ?

A 144 =
o i
e
C. 168 Op:
D. 195
Answers Keys:-

1 A 11 A 21 B
2 A 12 C 22 D
3 A 13 B 23 D
4 B 14 A 24 A
5 B 15 A 25 D
6 C 16 A 26 D
7 C 17 D 27 A
8 C 18 B 28 B
9 C 19 A 29 C
10 B 20 B 30 B
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